1 5/18 B2 EE = AR

R4 FREAF 8:10 (8:00FTlEL I EXE 18 THFH)
TR BN FRU= 8 2D 1 HL<FE A

[ rSvuoBR |

FRik bRzl | SR BEXT =gl EH
_ S 6&BF | NP ABOm H 1 %
9:80| 900 %10 T sH%F | an{/rA8OmH 2 48
_ S 543BF | n{sFA8Om H | 4
9:45| 915 ¥4 T5mEF | an A/ ABOm H 148
_ o _ AEBF 8 0m H 1 4
9:55| 925 938 = 8 0m H A
_ S 6EET 100m 5 #8
10: 05| 935 945 o 1T00m T
_ N SEET 100m 4 48
51 10:50| 1020 10:30 —gz= 1T00m 1
_ e ] 4AERF 50m 2 #
11:85| 11:05 1145 g 5 0m X
_ e ] SELUTEF 50m 2 #
7| 11:45| 11:15 1125 | ar 50m X
13:40] 1310~ 1320 | 5-6&5%F 1500m 1 4
13:565| 1325 ~ 1335 | 5 -6G8BF 1500m 1 #8
10| 14:20] 1350 ~ 14:00 | N¥4&E [BEE 4X100mR 1 #8
11| 14:25| 1355 ~ 14:056 | N¥5% |EBA 4Xx100mR 1 #8
2] 14:80] 14200 ~ 14:10 | Nh¥6%F [B& 4x100mR 2 #
| 74—l FEk | Bk B
PRERBHINEEZI| ARl BERT el 2 E

6EET O VAo U FAESBE (. 6%4)

. . H A
11: 10| 10:40 BH#S 6ELTF S UAA > FAEBEE (114%)
SEBRT O VA v FAES B ( 5%4)

. . H AN
12:50| 12:20 LT SELT 224 > FAERB ( 6%)
_ DU AERT 5k (5 %)
12:50| 12:10 12220 —pr= P 2 &)
6EBRF 22N 4 > FBEIEH (11 %)

. . H A
12: 10| 11:405H%% 6ERT 21 > FBEIEH ( 15 %)
SEBRF 22N 4 o FBEIEH (11 %)

. . H AN
13:50| 13:20 M7 SELT 3234 & FBEMER (10 %)
_ o _ LEBRTF IRk ( 3%)
13:50| 1310 13:20 gz Frern T &)

® T &
| iRkl BEmn  ABRET 23l £ B

_ ' ' 6EERT N {UF BY 4A Y yhE -IR (11 %)
11:10 10:30 10:40 = | o or By o ok I ( 15 %)
_ o _ SEET N {UF BY 4A Yy - (11 %)
12:50( 1210 12:20 SHEXF N VF BY #A" Y9k )R (10 #)
_ o _ AFEBF TRy yiR—ILE ( 44)
12:50| 1210 12220 \— o= SR ST 1 &)

KEBBKIT., F1EEOBRBRTHMEAICK > THEANENDIHZENHY ET .




	R7.5.18

